

# Converting Fahrenheit to Celsius (I)

Estimate or convert the temperatures.

$15^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-42^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$8^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$12^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$88^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-17^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-44^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$16^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-91^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$17^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$73^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-32^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-14^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$3^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$61^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-3^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-68^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-50^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$40^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-69^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-26^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$66^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$57^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-29^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-67^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-3^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-60^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$18^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$12^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$72^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$